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Plot [['EcFgro', 'EcFzExp', 'EcPItng’, 'ECdef’, 'EcParam’, 'water_ec']]
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plot dfFv
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plot dfFv (daily AgqQ)
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Plot minDeltaM, minDeltaMs, minDeltaMt
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M10 _E (-8.2%/D, -10.0%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_E
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Daily %DeltaM and %DeltaM/1000ml| ETcldef for M10_E1 (-9.4%/D, -10.5%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M10_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M20_E (-6.7%/D, -8.1%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_E
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Daily %DeltaM and %DeltaM/1000ml| ETcldef for M20_E1 (-9.0%/D, -11.6%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M20_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30_E (-2.3%/D, -3.6%/1000mlI ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_E
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M30_E1 (-5.9%/D, -8.3%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M30_E1
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M_E (-4.0%/D, -5.5%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M_E

° 0.00 - >
® pctDeltaM E » PY ® ® pdMPerEtL M_E g9 % e
() Y ® [ ) [ ) [ ) [ P
o o) (X ° o
-0.021 @ ® ° -0.057 o ®
~ .. () o [
o ® ®
0.03{ ®e® ° ®
® o ° -0.101 4 ®
-0.04 - o o o
°
o
-0.05 1 i -0.15 - .’
o °
-0.06 - ® °
200 400 600 800 1000 1200 1400 200 400 600 800 1000 1200 1400
ETcldef ETcldef




M_E d5 ([5.0, 5.7, 32.0] fdu=100.0 M_E d14 ([6.0, 2.8, 58.0] fdu=130.0 M10_E d24 ([20.0, 4.6, -6.0] fdu=57.0 M10_E1 d24 ([59.0, 23.7, -0.0] fdu=61.0

1.0 1.0 1 1.0 : : ] 1.0 . :
1 1 1 1 1
| L |

0.8 0.8 , 0.8 ! ) , 0.8 ,
1 1 /l 1 1
1 1 1 1 1

0.6 0.6 I 0.6 I I I 0.6 I I

—— [0.8, 23.28, 17.25, 14.98, 0.89] .1, 47.87, 0.99] —— [0.99, 15.8, 10.07, 28.87, 1.0] —— [0.95,30.0, 9.97, 6.0, 1.0] |
1 1 1 11 1

0.4 0.4 1 0.4 1 1 0.4 Ii 1 1
1 1 1 11 1
1 1 1 / 11 1

0.2 0.2 W) : il 0.2 — 1
1 1 1 11 1
1 1 1 11 1

0.0 0.0 - L 0.0 - | ! ! 0.0 _4___,__4 L1 L

0 50 100 150 0 25 50 75 100 125 0 20 40 0 20 40 60
M20_E d24 ([20.0, 4.2, -6.0] fdu=52.0 M20_E1 d24 ([58.0, 36.2, -0.0] fdu=53.0 M20_E1 d24 (rerun) ([58.0, 18.7, -0.0] fdu=99.0  M30_E d24 ([12.0, 3.5, 7.0] fdu=73.0
T T T n 2.0 T T T
1.0 : : - —— [2.42, 30.0, 24.17, 6.0, 0.96] —— [5.55, 43.48, 6.0, 59.97, 0.98] 1.0 : |
1 1 1.5 1 1
1 1 1 1
0.8 1 1 1 1.5 0.8 1 1
1 1 1 1 1
1 1 1 1 1
0.6 - ! ! ! - 1.0 0.6 ! !
—— [1.04, 10.0, 34.04, 16.93, 1.0] 1.0 —— [1.04, 10.0, 42.17, 18.84, 0.99]
1 /’I 1 1 1 1
0.4 I I I 0.4 I / I I
1 1 1 1 1 1
1 1 1 0.5 1 1 1
I 1 I 0.5 I / 1 I
02 | | | 02 | | |
1 1 1 1 1 1
1 1 1 1 1 1
0.0 - L L 0.0 0.0 0.0 d L L
0 20 40 60 0 20 40 0 20 40 60 80 100 0 20 40 60
M30_E1 d24 ([53.0, 51.7, -0.0] fdu=55.0 M30_E1 d24 (rerun) ([53.0, 46.0, -0.0] fdu=38.0 M_E d24 ([14.0, 4.0, 2.0] fdu=71.0 M10_E d28 ([29.0, 4.6, -10.0] fdu=62.0
| T T T T T
504 — [4.11,300,34.05,6.0,099] | 12 1.0 H—t 1.0 ! e~
11 1 1
1.0 0.8 h 0.8 | |
1 1 1
1.5 0.8 |: 1 1
0.6 LI 0.6 ! 1
Lo 06 — [1.23,46.78,8.12, 6.0, 1.0] —— [0.97, 10.0, 38.17, 15.67, 1.0] —— [0.99, 19.63, 6.0, 36.51, 1.0]
. ' 1 1 1 1
a8 Rt | ;oo
: 0.2
0.2 4 ! T
1 1 1 1
0.0 0.0 0.0 - L . L L
0 20 40 60 0 20 40 60 0 50 100 150 0 20 40 60
M10_E1 d28 ([31.0, 5.6, -9.0] fdu=74.0 M20_E d28 ([26.0, 4.2, -11.0] fdu=54.0 M20 E1 d28 ([7.0, 1.2, 93.0] fdu=232.0 M30_E d28 ([19.0, 6.0, -3.0] fdu=78.0
T T ! ! ! T 10 7 T | T | | T
1.0 1.0 H— —— [0.88, 25.05, 60.0, 60.0, 0.99] 1.2 — [1.68, 11.78, 60.0, 15.67, 0.98]
1 1 1 = 1
0.8 0.8 n1 0.8 H i1 1.0
1 ' |
0.6 0.6 1 1 0.6 1 1 0.8
.0] —— [1.02, 23.84, 19.99, 26.49, 1.0] i : 06
0.4 | 0.44 1 o
1 1 1
0.2 0.2 1 1
! ! ! 0.2
1 1
0.0 - . L 0.0 - l L 0.0
0 25 50 75 100 125 0 20 40 60 0 50 100 150 200 0 20 40 60
M30_E d28 (rerun) ([19.0, 7.0, -3.0] fdu=127.0 M _E d28 ([36.0, 12.1, -8.0] fdu=19.0 M_E d28 (rerun) ([36.0, 8.3, -8.0] fdu=125.0 M10_E d32 ([25.0, 4.6, -10.0] fdu=54.0
1.50 — T
1.2 -—— [4.33, 38.0,51.31, 60.0, 0.97] —— [0.69, 10.0, 6.0, 6.74, -0.9] —— [2.44, 45.0, 6.0, 60.0, -3.54] 1.0 =
1.25 Lo
1.0 0.8 —
1.00 P
0.8 0.6 ! !
06 0.75 —— [0.99, 16.5, 9.32, 29.53, 1.0]
y 1
0.4 1
.50 1
0.4 0.5 |
0.2 0.25 0.2 :
1
0.0 0.00 0.0 1= L
0 25 50 75 100 125 0 25 50 75 100 125 0 40 60




M10_E1 d32 ([25.0, 4.6, -8.0] fdu=60.0 M20_E d32 ([25.0, 5.0, -7.0] fdu=50.0 M30_E d32 ([14.0, 4.8, 1.0] fdu=66.0 M_E d32 ([4.0, 1.3, 262.0] fdu=406.0

LI I I I I T T T | | | ~ | | LI
1.0 . 1.0 : : 1o : — [0.92, 15.78, 60.0, 60.0, 0.92]
e e : : 15| 4 !
0.8 111 0.8 1 | 0.8 1 1 ' : :
11 1 1 1 1 1 ] 1
11 1 1 1 1 1 /] 1
0.6 L1 0.6 1 1 0.6 I VL1 ! !
—— [0.97, 10.0, 40.12, 12.51, 1.0] —— [1.02, 18.85, 25.47, 17.75, 1.0] —— [1.0, 10.0, 48.02, 11.49, 1.0] 1.0 !
1 1 1 1 | 1
1 0.4 1 0.4 1 1 n 1
| | | | o] :
l 0.2 ! 024 ! ! I :
1 1 1 1 1
1 1 1 1 1
- 0.0 - - 0.0 L+ | ! 0.0 - -
0 50 100 150 0 20 40 60 0 20 40 60 0 100 200 300 400
M10_E d37 ([26.0, 3.8, -11.0] fdu=59.0 M10_E1 d37 ([15.0, 2.8, 1.0] fdu=113.0 M20_E d37 ([29.0, 3.9, -12.0] fdu=66.0  M20_E d37 (rerun) ([29.0, 3.8, -12.0] fdu=73.0
T T T T 1 1.2
1.0 : 1.0 ; ; —— [1.26, 18.23, 39.24, 25.09, 1.0] —— [1.43,21.0, 37.97, 31.4, 1.0]
I I I 1.0 1.0
0.8 | 0.8 L
: : : 0.8 0.8
0.6 I 0.6 1 1
—— [0.97, 15.3, 6.0, 41.41, 1.0] —— [0.97, 30.0, 33.59, 33.46, 0.99] 0.6 0.6
1 1 1 1 1 1
0.4 I I 0.4 P I I 0.4 0.4
1 1 1 1 1
0.2 I 0.2 e L 0.2 0.2
1 1 1 1 1
1 1 1 1 1
0.0 - - - 0.0 - - - 0.0 0.0
0 20 40 60 0 50 100 150 0 20 40 60 0 20 40 60
M30_E d37 ([11.0, 2.8, 15.0] fdu=99.0 M _E d37 ([32.0, 17.3, -0.0] fdu=71.0 M10_E d42 ([39.0, 3.1, -19.0] fdu=68.0 M10 E1 d42 ([42.0, 3.2, -16.0] fdu=66.0
Lo {7 ] | — 7] 10 : T ]| L0 |
1 1 1 1.0 1 1 .
- ' | : .
0.8 1 0.8 | o8 , , 0.8
1 1 1 1 1
1 1 1 1 1
064+ i 064 1| 06 I P 0.6
—— [0.97, 10.0, 59.07, 19.98, 1.0] 1 — [1.05, 30.0, 2 0.97] —— [0.97, 18.54, 6.0, 53.55, 1.0]
1 1 1 1 11
0.4 4
L 0.4 | | ] 0
1 1 1 11
- 0.2 Ll 02 R 0.2
| : : : o —— [0.97, 16.52, 6.0, 51.46, 0.99]
(]
: 0.0 L = L 0.0 ' L 0.0 Ly v — o
0 50 100 150 0 20 40 60 0 20 40 60 80 100 0 200 40 60 80 100
M20_E d42 ([44.0, 2.5, -27.0] fdu=69.0 M20 E1 d42 ([20.0, 2.4, -11.0] fdu=97.0 M30_E d42 ([34.0, 5.6, -10.0] fdu=76.0 M30_E1 d42 ([5.0, 1.2, 160.0] fdu=295.0
T T T T T T 1 1.0
1.0 ! : ! | 10 ! 1.0 : i —— [0.79, 30.0, 60.0, 60.0, 0.93]
P l l l i 0.8
0.8 I I I 0.8 1 0.8 1 (] '
L | I i
0.6 - I I | 0.6 I I 0.6 I 1 0.6
—— [1.03, 30.0, 24.49, 49.16, 1.0] —— [0.96, 26.96, 59.29, 28.43, 1.0] —— [0.94, 30.0, 60.0, 10.51, 0.98]
1 1 1 1 1 1
0.4 i I i 0.4 i i 0.4 i i 0.4
1 1 1 1 1 1 1
1 1 1 1 1 1 1
0.2 . I 0.2 ! ! 0.2 I 0.2
1 1 1 1 1 1
1 1 1 1 1
0.0 - l - 0.0 - l - 0.0 - l 0.0
0 200 40 60 80 100 0 50 100 150 0 20 40 60 80 100 0 100 200 300
M10_E d46 ([37.0, 2.7, -24.0] fdu=69.0 M10 E1 d46 ([31.0, 2.9, -19.0] fdu=91.0 M20 _E d46 ([39.0, 2.7, -23.0] fdu=71.0 M20_E1 d46 ([12.0, 1.4, 21.0] fdu=162.0
1.0 i 1.0 U 2 | H | 1.0 I .
1 11 1.0 1 1 (]
| & L |
0.8 1 0.8 11 0.8 1 1 0.8 n
1 I 1 1 1 ||
1 I 1 1 1 ||
0.6 1 1] 0.6 11 1 0.6 - 1 1 0.6 i 1
—— [0.97, 18.66, 9.38, 56.3, 1.0] —— [0.97, 30.0, 29.87, 34.8, 1.0] —— [1.04, 30.0, 34.32, 37.39, 1.0] —— [0.93, 30.0, 60.0, 58.58, 0.97]
1 1 1 1 1 | 1
0.4 :. 0.4 1 1 0.4 1 ! 1 0.4 :I / 1
11 1 1 1 1 1 (] / 1
11 1 1 1 1 1 || 1
0.2 H 0.2 ! ! 0.2 : : : 0.2 I I
11 1 1 1 1 1 / 1
11 1 1 1 Il 1
0.0 L 0.0 - - 0.0 L gp——— l - 0.0 - -
0 60 80 100 0 200 40 60 80 100 0 200 40 60 80 100 0 50 100 150




M30_E d46 ([33.0, 7.6, -9.0] fdu=73.0

1.0

0.8

0.6

0.4

[0.89,

0.2

0.0 -

M20_E1 d50 ([32.0, 1.2, -45.0] fdu=98.0 M20_

0 20 40 60 80 100

1.0
0.8
0.6
-—— [0.8, 30.0, 60.0, 60.0, 0.82]
0.4
0.2
0.0
0 50 100 150
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
1.0 : i
11 1
| '
0.8 -
11
11
0.6 I
— [0.99, 16.12, 25.59, 42.12, 1.0]
0.4 % !
11 1
11 1
0.2 11 :
11 1
1
00 1 1
0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0
10 17 T | | | .
-— [0.82, 30.0, 60.0, 60.0, 0.97] :
1
0.8 i
1
1
0.6 1
1
1
0.4 :
1
1
0.2 :
1
1
00 - T 1
0 50 100 150
M20 E1 d56 ([31.0, 10.7, -5.0] fdu=74.0
1.0 : : r
1 1
| |
0.8 I |1
1 1
1 1
06 [ [
-— [1.01, 30.0, 50.38, 6.0, 0.99]
1
0.4 1
1
1
0.2 I
1
1
0.0 -

100

M10_E d50 ([35.0, 2.8, -22.0] fdu=70.0

M10_E1 d50 ([42.0, 1.4, -49.0] fdu=98.0

1.0 ! : 1.0 . i
1 1 1 1
| | i |
1 1 1 1
1 1 1 1
0.6 ! - 0.6 Ll
—— [0.98, 19.54, 11.01, 52.11, 1.0] —— [0.98, 21.54, 54.64, 60.0, 0.99]
0.4 = 0.4 = =
11 1 1 11
11 1 1 11
0.2 1 0.2 L N
11 1 1 11
11 1 1 11
0.0 - L1 0.0 - I [
0 200 40 60 80 100 0 25 50 75 100 125
E1 d50 (rerun) ([32.0, 4.8, -11.0] fdu=110.0 M30_E d50 ([38.0, 1.9, -32.0] fdu=78.0
1.0 I o 1.0 X X
| 1 1 11 11
L ¥ i
0.8 1 1 1 0.8 11 11
1 1 1 11 11
1 1 1 11 11
0.6 I 1o 0.6 H H
—— [1.0, 83.0, 28.72, 30.66, 1.0] —— [0.85, 30.0, 60.0, 34.85, 0.93]
0.4 ! ! 0.4
1 1
1 1 1
0.2 I vy A& 0.2
: :
0.0 ___— 1 1 0.0 -
0 50 100 150 0 50 100
M10 E1 d56 ([52.0, 2.3, -27.0] fdu=68.0 M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0
1.0 I L T 11 — 1.0 T T T]
Y —— 10.88, 16.96, 9.04, 60.0, 0.98] ' ! !
| LET : |
0.8 1 0.8 1 1
1 1 1
1 11 1 1
0.6 I I 0.6 1 !
: o —— [0.98, 28.14, 44.29, 29.34, 1.0]
1 /. 11 1 1 1
0.4 1 H 0.4 1 1 i
1 11 1 1 1
1 11 1 1 1
0.2 ' X 0.2 i -
11 1 1 1
11 1 1 1
0.0 L Ll 0.0 - l L L
0 20 40 60 80 0 50 100 150
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0 M10 E1 d56 ([52.0, 2.3, -27.0] fdu=68.0
1 0 T T 1 0 _I | LI | | | T L |
. ! ! * " —— 10.88, 16.96, 9.04, 60.0, 0.98]
1 1 1 | 1 ol
0.8 : 0.8 |
1 1
1 1 1
0.6 ! 0.6 I I
— [0.99, 16.12, 25.59, 42.12, 1.0] : :
1 1 1 g, 1
0.4 1 1 0.4 1 1
1 1 1 1
1 1 1 1
0.2 I I 0.2 ' 1
1 1 1
1 1
0.0 L L 0.0 L L
0 20 40 60 80 0 20 40 60 80

M30 _E d56 ([9.0, 1.2, 56.0] fdu=191.0
1.0 1 T T — j:_

|
—— [0.82, 30.0, 60.0, 60.0, 0.97]

0.8

0.6

0.4

0.2

0.0 -

100

150

M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
T

1.0

0.8

0.6

[0.99, 16.12, 25.59, 42.12, 1.0]

0.4

0.2

0.0 -

40 60 80

M20_E d50 ([38.0, 2.5, -25.0] fdu=69.0

1] I|
1.0 |
1]
1]
0.8 I
1]
1]
0.6 n
— [0.98, 30.0, 31.66, 39.97, 1.0]
I 1 1
0.4 H 1 1
1] 1 1
1] 1 1
0.2 i l |
1] 1 1
1] 1 1
0.0 _H 1 1
0 25 50 75 100 125

M30_E1 d50 ([6.0, 1.1, 149.0] fdu=284.0

—— [0.77, 30.0, 60.0, 60.0, 0.8]

0 100 200
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

1.0 : 1 rL
1 11
1 11

0.8 : -
1 11 1
1 11

06 [ | I |

—— [1.01, 30.0, 50.38, 6.0, 0.99]

1

0.4 1
1
1

0.2 :
1
1

0.0 4 L1

0 20 40 60 80 100
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

1.0

0.8

0.6
.98, 28.14, 44.29, 29.34, 1.0]

0.4

0.2

- .- '8 -

00 - T
0 50 100 150

M10 E1 d56 ([52.0, 2.3, -27.0] fdu=68.0
[T T T T T ]

1.01— [0.88, 16.96, 9.04, 60.0, 0.9é] )

o

0.8

0.6

0.4

0.2

0.0 .

40 60 80



1.0

0.8

0.6

0.4

0.2

0.0

1.0-

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

e ——

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0

[ LI | T
[0.88, 16.96, 9.04, 60.0, 0.98]
| 1

60 80

40
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0

0 20

[0.99, 16.12, 25.59, 42.12, 1.0]

0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0-

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0
[ LI | T
— [0.88, 16.96, 9.04, 60.0, 0.98]
0 20 40 60 80
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
] 1 | g
[ ]
i1 1
i [
(N
[
[
- i
— [0.99, 16.12, 25.59, 42.12, 1.0]
| I
. i i
| I
i I
i i I
I I
| I
]
i 1 1

M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

D
1
1
1

0 20 40 60 80
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

R —

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150

0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

150

100

0 50

100

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

4 "
[1.01, 30.0, 50.38, 6.0, 0.99]

D
1
1
1

0 20 40 60 80
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

e —

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0

— [0.88, 16.96, 9.04, 60.0, 0.98]
11 |
0 20 40 60 80
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
- i -
11 1
11 1
i 11
11
11
11
- 11
— [0.99, 16.12, 25.59, 42.12, 1.0]
] : |
| |
| |
| | I
| I
| 1
1
_ 1

100

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0

[0.99, 16.12, 25.59, 42.12, 1.0]

0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

-—
—
—————— ——

a | -

D
1
1
1

0 20 40 60 80 100
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

—

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0

[ LI | T
[0.88, 16.96, 9.04, 60.0, 0.98]
| 1




1.0

0.8

0.6

0.4

0.2

0.0

1.0-

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

e ——

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0

[ LI | T
[0.88, 16.96, 9.04, 60.0, 0.98]
| 1

60 80

40
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0

0 20

[0.99, 16.12, 25.59, 42.12, 1.0]

0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0-

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0
[ LI | T
— [0.88, 16.96, 9.04, 60.0, 0.98]
0 20 40 60 80
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
] 1 | g
[ ]
i1 1
i [
(N
[
[
- i
— [0.99, 16.12, 25.59, 42.12, 1.0]
| I
. i i
| I
i I
i i I
I I
| I
]
i 1 1

M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

D
1
1
1

0 20 40 60 80
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

R —

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150

0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

150

100

0 50

100

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

4 "
[1.01, 30.0, 50.38, 6.0, 0.99]

D
1
1
1

0 20 40 60 80
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

e —

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0

— [0.88, 16.96, 9.04, 60.0, 0.98]
11 |
0 20 40 60 80
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
- i -
11 1
11 1
i 11
11
11
11
- 11
— [0.99, 16.12, 25.59, 42.12, 1.0]
] : |
| |
| |
| | I
| I
| 1
1
_ 1

100

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0

[0.99, 16.12, 25.59, 42.12, 1.0]

0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

T
[0.82, 30.0, 60.0, 60.0, 0.97] :

0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

-—
—
—————— ——

a | -

D
1
1
1

0 20 40 60 80 100
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

—

[0.98, 28.14, 44.29, 29.34, 1.0]

0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0

[ LI | T
[0.88, 16.96, 9.04, 60.0, 0.98]
| 1




M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0

1.0 L I ——
] 1
i l
0.8 - 1 ,
1 1
1 1
0.6 - 1
— [0.98, 28.14, 44.29, 29.34, 1.0]
044 |
1 1
1 1
0.2 - - :
1 1
] 1
00 - T 1 T T
0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0
I 1 T
1.0- [0.88, 16.96, 9.04, 60.0, 0.98]
1 1
0.8 A
0.6 A
0.4 ~
0.2 -
00 - T T T
0 20 40 60 80
M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0
1.0 = | g
11 1
i '
0.8 I
11
11
0.6 - (B |
— [0.99, 16.12, 25.59, 42.12, 1.0]
0.4 1 l |
| 1
| 1
0.2 - I I
1 1
1
00 - T 1 T T 1 T
0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0
1.0f '
— [0.82, 30.0, 60.0, 60.0, 0.97] :
11 1
0.8 - L 1
11 1
11 1
11 1
0.6 A H i
11 1
! :
0.4 I 1
11 1
11 1
021+ 1 :
11 1
11 1
00 - . T T T 1
0 50 100 150
M20 E1 d58 ([6.0, 1.3, 133.0] fdu=260.0
TT T
1.0 4+ & I
11 1
| l
0.8 4711 1
11 1
11 1
0.6 11 '
— [0.93, 12.67, 57.55, 60.0, 0.99]
1
0.4 ~ i
1
1
0.2 - :
1
1
0.0 - 1

100 150 200 250

M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0

1.0 h :
1] 1
1] 1 ‘
o8 ! |
i1 1€
11 1
0.6 1 1 !
—— [1.01, 30.0, 50.38, 6.0, 0.99]
1 1
0.4 + H 1
1
1]
0.2 1 D
1] 1
1] 1
0.0' T 1 T T
0 20 40 60 80 100
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0
1.0 i ) ——
1 1
: I
0.8 1 1 ,
1 1
1 1
0.6 [
—— [0.98, 28.14, 44.29, 29.34, 1.0]
0.4 - I
1 1
1 1
0.2 - - :
1 1
1 1
OO - T 1 T T
0 50 100 150
M10_E1 d56 ([52.0, 2.3, -27.0] fdu=68.0
I | I | T
1.0 [0.88, 16.96, 9.04, 60.0, 0.98]
0.8
0.6 1
0.4
0.2 1
OO - T T T
0 20 40 60 80
M10 _E d58 ([21.0, 5.0, -6.0] fdu=48.0
1.0 1 ul :
1 1 1
|
0.8 I !
1l 1
1 1
0.6 1 TR !
—— [0.98, 12.74, 9.1, 25.64, 1.0]
1 1
I 1
1 1
1 1
1 1
| 1
1 1
1 1
1 T I T I T
0 10 20 30 40 50
M10_E d60 ([24.0, 5.0, -8.0] fdu=47.0
1.0 I I
1 ]
|
i 1
0.8 L_{
1 1
1 1
0.6 [ y
—— [0.98, 13.22, 12.03, 22.88, 1.0]
0.4 1 I
1 1 1
1 1 1
0.2 1 [ i
1 1
1 ] 1
| 1

0.0 -

M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0

1.0 4 L ]
— [0.82, 30.0, 60.0, 60.0, 0.97] :
1
0.8 + 1
1
1
1
0.6 - 1
1
1
0.4 - :
1
|
02 . 1
1
1
00 - T T T 1
0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0
1.0 1 i :
1" 1
T |
08 T 1] 1 ¢
1 1
1 1
0.6 - u !
-— [1.01, 30.0, 50.38, 6.0, 0.99]
1" 1
0.4 + H 1
1
1
0.2 - L D
1" 1
1" 1
0.0‘ T 1 T T
0 20 40 60 80 100
M20_E d56 ([46.0, 2.8, -23.0] fdu=72.0
1.0 : : |
1 1
i :
0.8 1 1 1
1 1
1 1
0.6 - 1
— [0.98, 28.14, 44.29, 29.34, 1.0]
0441 |
1 1
1 1
0.2 - - :
1 1
1 1
1

0.0 -

0 50 100 150
M10_E1 d58 ([20.0, 4.6, -5.0] fdu=54.0

i :
1.0 1 H !
| |
0.8 1 1 4 1
11 1
11 1
0.6 - H '
— [1.03, 12.16, 20.4, 19.73, 1.0] |
1
0a- ¥ .
11 1
11 1
0.2- X i
1 1
1
00 - ! T T T 1
0 10 20 30 40 50
M10 E1 d60 ([31.0, 7.0, -5.0] fdu=53.0
LI T T
1.0 T —
[ |
o
0.8 noi
nm 1
[ |
0.6 - 1
—— [0.99, 16.88, 20.55, 12.19, 1.0]
0.4 - Hi |
nm 1 1
i |
0.2
| |
1
1

0.0 -

M10_E d56 ([42.0, 2.4, -29.0] fdu=63.0

1.0 1 i I o
11 1
i '
0.8 - H
11
11
0.6 - =
— [0.99, 16.12, 25.59, 42.12, 1.0]
0.4 : |
| 1
| |
0.2 1 | :
| 1
1
00 - T 1 T T 1 T
0 20 40 60 80
M30_E d56 ([9.0, 1.2, 56.0] fdu=191.0
1L0f— '
— [0.82, 30.0, 60.0, 60.0, 0.97] :
1
0.8 A 1
1
1
1
0.6 A i
1
1
0.4 - :
1
1
0.2 - :
1
1
00 - T T T 1
0 50 100 150
M20_E1 d56 ([31.0, 10.7, -5.0] fdu=74.0
1.0 H i
1] 1
1 |
08 T 1] 1 p
1] 1
11 1
0.6 i '
— [1.01, 30.0, 50.38, 6.0, 0.99]
11 1
0.4 A i i
1]
1]
0.2 h >
1] 1
1] 1
0.0' T 1 T T
0 20 40 60 80 10
M20 _E d58 ([18.0, 6.6, -3.0] fdu=51.0
L0 fT— 1T 1 ] | g
11 1 1
RN
0.8 A i I
11 1
11 1
0.6 - i I
— [0.98, 19.83, 27.31, 11.63, 1.0]
0.4 | |
1 1
| |
0.2 - -
1
1
00 - 1 T 1 T T
0 20 40 60 80
M20_E d60 ([22.0, 5.1, -6.0] fdu=52.0
10T T T 1] | jpenn
1 ] 1 1
N
0.8 A I i I
1 | 1
1 1 1
0.6 - 1 1 1 ‘
— [0.98, 10.0, 39.27, 11.22, 1.0]
044 1 i |
1 | 1
L |
0.2 A | I |
1 1 1
1 1 1
1

0.0 -

0



M20_E1 d60 ([9.0, 1.3, 58.0] fdu=191.0 M30_E d60 ([6.0, 1.3, 124.0] fdu=251.0 M10_E d62 ([15.0, 8.8, -0.0] fdu=36.0 M10_E1 d62 ([13.0, 9.4, 2.0] fdu=42.0

T T | T | | T T 1 0 T T T I I T
1.0-— [0.92,16.92, 60.0, 60.0,0.99] { 1.0 1! ; ' I noLo ¥ ,
: - | 1 : } :
i i 0.8 4 1 0.8 ] ] | 0.8 I I
1 1 11 1 1 1 11 1
1 1 11 1 1 1 11 1
1 1 064 1! 1 0.6 1 1 H 06 Ll 1
! ! 2| —— [0.96, 13.5, 60.0, 60.0, 0.99] — [1.0, 10.0, 6.0, 15.15, 0.99] } —— [0.99, 10.0, 16.4, 8.11, 1.0]
1 1 1 1 1
} 1 0.4 i 1 1
1 1 0.4 1 1 1
1 1 1 1 1
: il 02 0.2 | l :
1 1 1 1 1
1 1 1 1
1 00 - T 00 - T 1 . 1
0 50 100 150 200 0 50 100 150 200 250 0 10 20 30 0 20 40
M20_E d62 ([12.0, 6.5, 5.0] fdu=51.0 M10_E d63 ([13.0, 13.4, 1.0] fdu=31.0 M10_E1 d63 ([27.0, 11.2, -5.0] fdu=28.0 M20_E d63 ([14.0, 6.8, 1.0] fdu=39.0
1.0 I [ 1.0 l = 1.0 | :
1 1 ' 1 [
| : : :
0.8 | 0.8 | 0.8 I i
1 1 1 1
1 1 1 1
0.6 I 1 . 0.6 = 1 0.6 1 A 1
—— [0.96, 20.83, 6.0, 24.67, 1.0] —— [0.95, 10.0, 6.0, 8.65, 0.89] —— [0.96, 10.66, 6.0, 11.09, 0.99] —— [1.02, 10.0, 19.26, 11.6, 1.0]
1 1 I/ 1 1 1
0.4 1 ; 1 0.4 1 1 0.4 1 1
1 1 ; 1 1 1
1 1 1 1 1
0.2 ! ! 0.2 I i 0.2 i :
R V. : :
0.0 - L . 0.0 LR/ | L 0.0 L
0 20 40 60 80 0 10 20 30 40 0 10 20 30 40 0 10 20 30 40
M20_E1 d63 ([31.0, 9.5, -6.0] fdu=31.0 M30_E d63 ([9.0, 3.3, 21.0] fdu=95.0 M30_E1 d63 ([23.0, 15.2, -2.0] fdu=116.0 M10_E d63 ([13.0, 13.4, 1.0] fdu=31.0
T T 1 T
1.0 ! ! — | 10 1 —— [10.0, 19.85, 47.82, 59.94, 0.99]
: : B : t22
0.8
0.8 1 1 11 1
| X | 1.00
0.6 1 1 0.6 11 1
: ! ! —— [0.97, 27.73, 6.69, 53.48,1.0] | 0.75 —— [0.95, 10.0, 6.0, 8.65, 0.89]
1 1 1 1
0.4 ! : i i 0.50
| | I I
0.2 | 7 4 | I I 0.25
— [1.06, 18.57, 6.0, 17.85, 1.0] | :
O e e & L ! . L 0.00 .
0 10 20 30 40 0 25 50 75 100 125 0 25 50 75 100 0 10 20 30 40
M10_E1 d63 ([27.0, 11.2, -5.0] fdu=28.0 M20_E d63 ([14.0, 6.8, 1.0] fdu=39.0 M20_E1 d63 ([31.0, 9.5, -6.0] fdu=31.0 M30_E d63 ([9.0, 3.3, 21.0] fdu=95.0
T T LI T T T T T T T T
1.0 I I 1.0 I I 1 1 1 — 1.0 1
| | | | 1.0 — I 1
. A N ¥ :
0.8 | 1 0.8 1 1 1 0.8 11 1
1 1 : : 0.8 1 1 11 1
1 1 1 1 1 1 11 1
0-6 1 [ | - 0-6 1 1 0 6 I I I 06 11 !
—— [0.96, 10.66, 6.0, 11.09, 0.99] —— [1.02, 10.0, 19.26, 11.6, 1.0] - o ! [ .69, 53.48, 1.0]
04 Loy ! 04 ! ! ! Lo ] ] !
' I /Y I ' I I I 0.4 o I I I
1 1 1 1 1 1 1 1 1 1
0.2 /1 i 0.2 i I i 0.2 — ! i l
J:/’: : : ) : —— [1.06, 18.57, 6.0, 17.85, 1.0] : :
0.0 - ”'-!l 1 1 0.0 1 1 0.0 _W !I ! . 1
0 10 20 30 40 0 10 20 30 40 0 10 20 30 40 0 25 50 75 100 125
M30_E1 d63 ([23.0, 15.2, -2.0] fdu=116.0 M10_E d64 ([9.0, 23.2, 3.0] fdu=61.0 M10_E1 d64 ([9.0, 10.6, 6.0] fdu=58.0 M20_E d64 ([7.0, 2.2, 58.0] fdu=131.0

— [10.0, 19.85, 47.82, 59.94, 0.99]
1.25

1.00
0.75 —— [0.78, 12.1, 6.0, 57.86, 0.86]

0.50

0.25

—— [0.79, 29.65, 7.15, 6.09, 0.57] — [0.72, 20.57, 15.3, 6.64, 0.6]

0 25 50 75 100 0 50 100 150 200 0 50 100 150 200 ) 100 200

0.00




1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M10_E d67 ([8.0, 6.7, 14.0] fdu=96.0

I
1
|
1
1
|
1
1
1
1
|
!
i
1
1
VALl |
— [0.95, 30.0, 21.79, 14.76, 0.94]
; — —
0 20 40 60 80 100
M30_E d67 ([7.0, 1.4, 77.0] fdu=212.0
t : :
11 1 |
11 1 1
I | |
T i i
11 1 1
0.6 11 1 1|
" —— [0.99, 30.0, 60.0, 59.55, 0.98]
t !
1 I
1 1
11 1
[ 1
11 1
11 |
11 1
0 50 100 150 200
M10_E1 d68 ([30.0, 3.4, -17.0] fdu=46.0
T T e
1 1
1 1
1 |
1 1
1 1
[ [
1 1 1
| 1 |
! L
i P
1 1 1
1 1
I I |
—— [0.93, 10.0, 6.0, 42.66, 0.97]
___/ 1 ! 1 ! 1 !
0 20 40 60
M30_E1 d68 ([37.0, 9.7, -8.0] fdu=53.0
| i p-
| | 1
1 1 1
1 1 1
1 1 |
1 1 1
! K
— [0.95, 30.0, 39.12, 7.01, 1.0]
| | 1
1 1
1 1
1 1
1 1 1
1 1 |
1 1 1
| I‘ 1
;. 1
0O 20 40 60 80 100

M20_E d71 ([34.0, 0.5, -111.0] fdu=32.0

—— [0.35, 30.0, 60.0, 60.0, 0.31]

100 150

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M10_E1 d67 ([11.0, 5.6, 8.0] fdu=92.0

i & |
|
|
|
|
1
1
1
1
|
!
;
1
1

/11 |
— [0.95, 30.0, 21.28, 18.1, 0.91]
: — — L
0 20 40 60 80
M30 E1 d67 ([13.0, 1.3, 11.0] fdu=146.0
IT T
1
11
11 |
| 1
11 1
11 1
1 11 1 |
—— [0.89, 30.0, 60.0, 60.0, 0.91]
H / !
1 / I
11 1
11 1
11 1
11 1
1 / I
11 1
0 50 100 150
M20_E d68 ([22.0, 6.6, -5.0] fdu=43.0
o —
| |
1 1
| |
1 1
BRI I
— [0.99, 21.39, 14.74, 16.99, 1.0]
N !
BE i
1 1 1
1 1 1
1 | 1
1 1 1
| |
1
0 20 40 60 80
M_E d68 ([35.0, 2.5, -25.0] fdu=74.0
T T T
| | f"“
| |
| 1 |
1 1
1 1
1 1
1 1
1 1
| |
! !
I I
1 1
1 1
| |
— [1.0,18.42, 34.93, 35.91, 0.99]
_# ! }l 1 ! ! |

0 20 40 60 80 100
M20_E1 d71 ([48.0, 0.7, -98.0] fdu=45.0

—— [0.51, 30.0, 60.0, 60.0, 0.52]

100 150

1.0

0.8

0.6

0.4

0.2

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M20_E d67 ([26.0, 9.1, -5.0] fdu=60.0

—— [0.98, 30.0, 34.05, 8.32, 1.0]

0 20 40 60 80

M_E d67 ([9.0, 5.7, 12.0] fdu=104.0

T H
1

[0.95, 30.0, 32.97, 14.0, 0.99]

0 50 100 150
M20_E1 d68 ([39.0, 5.0, -11.0] fdu=49.0
I I I
| Wis
1 1 1
I I I
| | |
! Al
— [0.99, 15.42, 34.76, 13.43, 1.0]

0 20 40 60 80
M10_E d71 ([36.0, 1.1, -53.0] fdu=112.0

—— [0.73, 30.0, 60.0, 60.0, 0.77]

0 50 100 150
M30_E1 d71 ([17.0, 0.3, -40.0] fdu=95.0

—— [0.18, 30.0, 60.0, 60.0, 0.14]

150

100

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

M20_E1 d67 ([39.0, 10.6, -9.0] fdu=54.0

[1.0, 30.0, 33.41, 7.35, 1.0]

0 20 40
M10_E d68 ([18.0, 6.6,

60
-3.0] fdu=38.0

S
— — @ e ——— —

10.0, 6.0, 20.07, 0.99]

b e —— -~
—— i ——

0 20 40
M30_E d68 ([30.0, 5.9, -8.0] fdu=55.0

I I T
1 1
I I
I I
I I I
] ] I
I I I
I I I
—— [0.94, 30.0, 34.97, 12.94, 0.99]
I I I
I I I
I 1 I
I I
I I
I I
I I I
d 1 1
0 20 40 60 80 100

M10_E1 d71 ([48.0, 1.8, -36.0] fdu=105.0

—— [0.86, 30.0, 60.0, 36.64, 0.86]

0 50 100 150
M_E d71 ([36.0, 9.6, -8.0] fdu=101.0
T

—— [0.96, 30.0, 58.5, 6.0, 0.98]
I ! | 1!
I I f 1
1 1 1
1 1 1
I |
1 1
1

§

150



M10_E d71 ([36.0, 1.1, -53.0] fdu=112.0

—— [0.73, 30.0, 60.0, 60.0, 0.77]

M10_E1 d71 ([48.0, 1.8, -36.0] fdu=105.0

—— [0.86, 30.0, 60.0, 36.64, 0.86]

0 50 100 150
M30_E1 d71 ([17.0, 0.3, -40.0] fdu=95.0

—— [0.18, 30.0, 60.0, 60.0, 0.14]

0 50
M20_E d73 ([24.0, 5.6, -6.0] fdu=61.0

100 150

T
1.0

0.8

0.6

[0.99, 10.0, 50.27, 9.4, 1.0]

0.4

0.2

0.0 -

0 20 40 60 80

M30_E1 d73 (rerun) ([39.0, 8.6, -9.0] fdu=104.0

121 [4.95, 28.56, 38.76, 60.0, 0.99]

1.0
0.8
0.6
0.4
0.2
0.0

0 20 40 60 80 100
M20_E d75 ([21.0, 6.7, -5.0] fdu=48.0

1.0 I I

0.8

0.6

—— [0.98, 21.92, 23.35, 12.97, 1.0]
0.4

0.2

0.0 -

60

0 50 100 150
M_E d71 ([36.0, 9.6, -8.0] fdu=101.0

1.0 1
1 1
- |
1 1 |
1 1 |
0.6 ! ! L
—— [0.96, 30.0, 58.5, 6.0, 0.98]
1 1 |
0.4 1 1
1 1 |
L }‘ :
0.2
L {0 |
1 1 |
0.0 -
0 50 100 150
M20 E1 d73 ([47.0, 12.6, -0.0] fdu=38.0
1.0 — H
1l
L1
0.8 W
[
[
0.6 e 41
—— [0.99, 22.01, 12.49, 9.07, 1.0]
[ ¢ 1
0.4 1 1 1
[ 1
[ 1
0.2 .y I
11 1
1l 1
0.0 - 1
0 10 20 30 40 50

M_E d73 ([32.0, 19.0, -0.0] fdu=27.0
1.0

0.8
0.6
0.4

0.2
—— [0.98, 10.0, 6.0, 6.0, 0.81]

0 20 40 60
M20_E1 d75 ([41.0, 13.2, -0.0] fdu=45.0
T T

0.0

1.0

0.8

[0.97,30.0, 12.42, 9.87, 1.0]

0.6

60

M20_E d71 ([34.0, 0.5, -111.0] fdu=32.0 M20_E1 d71 ([48.0, 0.7, -98.0] fdu=45.0

—— [0.51, 30.0, 60.0, 60.0, 0.52]

1.0
0.8

0.6

—— [0.35, 30.0, 60.0, 60.0, 0.31]

0.4

0.2

0.0 .
150 0 50 100 150
M10_E1 d73 ([43.0, 8.3, -11.0] fdu=27.0

0 50 100
M10_E d73 ([26.0, 3.7, -12.0] fdu=53.0

1.0 1.0 Lo |
1 1 1
1 1 1
0.8 0.8 o
1 1
1 1
0.6 . 0.6 S
—— [0.96, 13.45, 11.56, 33.75, 1.0] .
[ | 1
0.4 1 0.4 i
[ | |
I 1 1
0.2 i— 0.2 I
Lo — [0.93, 11.22, 6.0, 15.39, 0.99]
0.0 - — 0.0 -—emssmmmcndey |4 L T '
0 20 40 60 0 10 20 30 40
M30_E d73 ([9.0, 1.5, 43.0] fdu=174.0 M30_E1 d73 ([39.0, 8.6, -9.0] fdu=104.0
LILI I
Loy | —— [4.95, 28.56, 38.76, 60.0, 0.99]
H 12
0.8 H il 1.0
1 1 '
11 1
0.6 Ll il 0.8
— [0.96, 30.0, 59.55, 56.69, 1.0] |
1 | 0.6
%41 i
:: : 0.4
0.2
T | 0.2
I 1
0.0 - l 0.0
0 50 100 150 0O 20 40 60 80 100
M10_E d75 ([19.0, 4.7, -5.0] fdu=47.0 M10_E1 d75 ([34.0, 3.8, -15.0] fdu=43.0
1.0 | — ] 10 : : &
1 1 1 1
R -
1 1 1 1
1 1 1
0.6 | | | 0.6 !
—— [0.97, 10.0, 6.0, 30.48, 1.0] :
I | 1
1 1 0.4 1
| 1 1
1 1 1
| | 0.2 £
| : — [0.92, 10.0, 6.0, 36.59, 0.99]
L L R e —
0 20 40 60 0 20 40 60

M30_E d75 ([12.0, 3.6, 8.0] fdu=84.0 M30_E1 d75 ([31.0, 9.0, -6.0] fdu=50.0

I
1.0 : 12— [1.35,30.0, 25.76, 14.31, 0.99]
I
0.8 ! - 1.0
I ]
1 1 0.8
0.6 ' 1

0.6

0.4

0.2

I
]
I
I
1
I
I
1
[0.97, 30.0, 38.8, 22.55, 0.99]
I
]
I
I
1
I
1

50 75 100 125 0

20

40 60



M30_E1 d75 (rerun) ([31.0, 7.1, -6.0] fdu=101.0 M_E d75 ([30.0, 18.7, -0.0] fdu=27.0 M10_E d77 ([15.0, 4.9, -0.0] fdu=51.0 M10_E1 d77 ([29.0, 7.3, -5.0] fdu=38.0
'y 1 | I

I I I I TT
1.2-— [3.46, 36.95, 27.86, 60.0,1.0] | 10 F 1.0 e o 10 r
g I | i
1.0 0.8 — . 0.8 1 | 08 il
RN 1B : I
0.8 0_6 1 1 1 0_6 1 1 1 06 | I | '/
06 —— [0.96, 10.0, 6.0, 6.0, 0.91] — [1.02,10.0, 6.2, 30.65, 1.0] ! —— [0.95, 12.38, 6.0, 18.49, 0.98]
' 1 1 1 1 1
0.4 : | ! 0.4 04 ' '
> o f | ! : ' :
0.2 ® 0.2 0.2
0.2 L/ | | | |
» 1 1 1 1 1
0.0 0.0 - I I 0.0 - l R I I
0 20 40 60 80 100 0 20 40 60 0 10 20 30 40 50 0 10 20 30 40
M20 _E d77 ([14.0, 9.2, 1.0] fdu=46.0 M20 E1 d77 ([38.0, 14.5, -0.0] fdu=37.0 M30_E d77 ([6.0, 2.0, 79.0] fdu=173.0 M30_E1 d77 ([24.0, 13.2, -3.0] fdu=33.0
1.0 : : ' 1.0 : : 10l 1 I | e : :
1 I ’ 1 I : 1 I I 1 1
1 1 1 1 1 1 1 1 1 1
0.8 | | | 0.8 | | 081 11 I | 08 | |
1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1
0.6 ! ! ! 0.6 . 5 A 06 ' 1! 1| 06 ! ! |
—— [0.98, 10.0, 31.68, 6.08, 1.0] —— [1.0,23.58, 11.0, 8.74, 1.0] —— [0.96, 16.25, 49.56, 37.0, 0.99] —— [0.97, 30.0, 9.63, 11.29, 0.99]
1 1 1 1 1 1 1 1 1 1 1 1
0.4 1 i i 0.4 i i 1 0.4 ] ] | 0.4 1 1 i
1 1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1 1 1 1
0.2 | | | 0.2 l i : 0.2 : I | 0.2 | i i
1 1 1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1
0.0 I I 0.0 —1 0.0 - I R I
0 20 40 0 10 20 30 40 0 50 100 150 0 20 40 60

M_E d77 ([28.0, 5.0, -10.0] fdu=39.0

—— [0.98, 10.0, 6.0, 28.44, 0.8]




400 -

300 A

200 A

100 A

400 -

300 A

200 ~

100 A

X

X

M10_E_fdu
M10_E duBegFit

M10 _E duBeg

30 40 50
d
® M30_E fdu
7 M30_E_duBegFit
7 M30 _E duBeg

X %

e X XX
30 40 50
d

400 -

300 A

200 A

100 A

Fdu, duBegFit, and duBeg moving average

X

X

M10_E1_fdu
M10_E1 _duBegFit

M10 E1_duBeg

400 -

300 A

200 A

100 A

[ ]
®
.’._')_‘JJ__.\ )’
S 1B
0 40 50 60 70
d
® M30_El fdu
X  M30_E1 duBegFit
X  M30_E1l_duBeg
X

X

X

M20_E1_fdu
M20_E1_duBegFit

M20 E1_duBeg

30 40 50

® M20 E fdu
7 M20_E_duBegFit
7 M20_E duBeg
!!tﬁ X R
3IO 4IO 5|0
a
® M E fdu
7 M_E_duBegFit
7 M_E duBeg
o
X X | %=
20 3|0 4IO

0.2 0.4




FduBeg (Estimated from BetaSs fit)

40 A

30 A

20 A

10 A

- -
-
—_r -

— -
—_r -

M10_E1_duBegFitma
M20 _E duBegFitma
M10_E_duBegFitma
M30_E1_duBegFitma
M _E_duBegFitma

M30_E_duBegFitma
M20_E1_duBegFitma

FduBegFit

20

70

80



Fdu (Estimated from BetaS fit

200 A

150 A

100 -

50 A1

M10_E _fduma
M_E fduma
M30 _E1 fduma
M20_E_fduma
M30_E fduma
M10 _E1 fduma
M20_E1 fduma
Fdu

20

70

80



8000 A

fvPerM Estimated for each M sensor by fit BetaS

6000 A

4000

2000 -

M20_E1_fvPerM
M10_E1_fvPerM
M30_E_fvPerM
M20_E_fvPerM
M_E fvPerM
M10_E_fvPerM
M30_E1_fvPerM

20

\ /I
\
\ / N
\
\ / I\
/
\ / 1 \
\\ / 1 N
\ / !
\ N /I I'
\ 7’
) ,/’ \\\ II I’
-
”’a\: \\\\ ,// \\ / h -
__________ - \ \\\; \_;L_——_————F’ TeE———-
___________________ e e e e e e e e o o o o o i i i s e e e e L L L e
T T T T
30 40 50 60



2000
1500 -
1000 -
~
500 - .\ﬁ‘ T L J L X )
® MI0E fberMm o o @
—— M10_E_fvPerMma ¢
o T T T T T
30 40 50 60 70
d
8000 ®
6000
® e
4000 A \/
o
2000 A )
® M30_E_fvPerM
—— M30_E_fvPerMma Y
o T T T T T
30 40 50 60 70
d

fvPerM moving average

° 1200 A o ®
1200 - ol
o 1000 - °L e
1000 - ° o
800 - o
800 - .\\\\‘ i
600 | ® N
600 - ¢
4001 @ > L ] 4007
ol
5004 ®  M10_E1 fuPerM ® ®e | 2001 ® M20_E fvPerM
—— M10_E1_fvPerMma ¢ o —— M20_E_fvPerMma
O T T T T T 0 T T T T
30 40 50 60 70 30 40 50 60 70
d d
3000 - °
6000 -
2500 -
5000 -
2000 -
4000 -
1500 A 3000 - \\\
1000 - ]
2000 o
5004 @® M30_E1 fvPerM o | 1000 - ® M _E fvPerM
—— M30 E1 fvPerMma —— M E fvPerMma
i - o
O T T T T T 0 T T = T T T I. ._
68 70 72 74 76 20 30 40 50 60 70
d d

5000 -

4000

3000 -

2000 -

1000 ~

® M20 E1 fvPerM
—— M20_E1 fvPerMma ®

SN

30 40 50 60
d

70

1.0

0.8

0.6 A

0.4 1

0.2

0.0

0.0

0.2 0.4 0.6

0.8

1.0



Plot ['FR', 'soilSetVI']

—@— soilSetVI
5000 ~

4000 A

3000 -

2000 -

1000 ~




fvPerD_M10_E

M10_E ETcldef vs estFv

2000 A

=

ul

o

o
1

1000 ~

500 A

ETcldef vs fvPerD_M10_E: a=1.07, b=-120.27, r=0.69

200

800 1000 1200 1400

ETcldef

400 600

2.0
- 1.5
2000 - 1 Lo
o - 1.
@, .: .o
1500 - ® - 0.5
- 0.0
1000 - 0 L o5
a . -
—&— ETcldef L 1.0
2001 _o— fyperb M10 E
—8— ETcM Fo13
0 - T T T T — -2.0
0 20 40 60 80



fvPerD_M10_E1

M10 _E1 ETcldef vs estFv
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ETcM and ETcMma
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Fg Trigger Score (by Et and sensor)
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Plot liquid fertilizer usage
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Plot solid fertilizer usage
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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